POLARIS.

The Way Qut,
EXPANSION ANCHOR KIT '

KIT P/N 2876519
Application:
Multiple madels A

Before you begin, read these instructions and check to be sure all parts and tools are accounted for. Please retain
these installation instructions for future reference and parts ordering information.

This kit includes:

Item Qty Part Description item Gty Past Description

1 1 Tension Rod 8 1 Fender Washer

2 1 Handle 9 1 5/16" UNF Nylock Nut
3 1 #8 X 3/4” Machine Screw 10 1 Mount Bracket

4 1 #8 Nylock Nut 11 2 1/4"-20 X 1/2” Hex Bolt
5 1 Black Nylon Washer 12 2 1/4" 1D Lock washer

6 1 Nylon Bushing 13 1 Instructions

7 1 Rubber Bushing *

Tools Required:
172" Open-end Wrench, #2 Phillips Screwdriver, Naedle nose Pliers

IMPORTANT: Your Polaris accessory is designed exciusively for your vehicle. Please read the instaliation
instructions thoroughly before beginning. Installation of any item is easier if the vehicle is clean and free of debris.

APPROXIMATE INSTALLATION TIME: 5 min
INSTALLATION INSTRUCTIONS

Assemble the anchor as shown in the illustration, If the anchor tension is inadequate, tighten the Nylock
Use the bolts and washers to attach to the bracket to nut (9).
the accessory. '

ROTATE HANDLE
TO LOCK IN PLACE

USE A PADLOCK TO
PREVENT THEFT




